wk3 alg 2nd.notebook

January 14, 2019, Monday

Simplify each expression. ‘/
12— 3:7- +4’rﬁ+4i 2 Qp;ﬁ‘i(‘ézﬂafg_a_&,‘,q'(
i e
3) 7(3»—+ 4) 2 (ns SYr—1

PILZFAY mi-Im +9m=-5
mr+ym -5

Jan 10-10:34 AM

o 208 zzmof f»zox(«’ ). 5B
Do e :
305 ( |m, LDsze bOW(V\ 205 ™

See (52508, IM\ hr hv

H)ree l,om\
\V\r ‘sz gxb

- (f:?WOO*“

— v

M??},f:t PR

/9. Suppose 5(3 ¥)=T7x Wheny = 1‘D lt&ﬂ"— ‘Lag}giﬁ:%&:; ey s:\nmfzz' nda w‘luglf
Yimdne s i ?-200+20)

35 waam PP 2w
'5—' X 3 3 | = 10m
X the how many terms are
2T ) 15
«.*'Lx«lw\lxus

ll-t“sx Uxx £€rm$ 5

January 18, 2019

B
3D
Y C
Y
) C
NB
§C

3

D A \’Pcm das”

Q) Sln+
10) n+b

PR —

Quiz Review
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January 15, 2019, Tuesday

1. 43 miles into feet
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Iy 9. 1.09g/mL to lbs/ t
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24, Label the following as rational or irrational
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Name: Date:
Algebraic Properties
Properies of Equality Property Example(s)

‘Addifion Property of Equality

sublraction Properly of
Equalty

Multipication Property of
Equaiity

ffa=b.fhena+c=b+c.

Ifa=b,thena-c=b-c

Ifa=b, lhen ac = be

x=D X+ =3y
X=(0 X-b=10-b
x=3 2x=2(N

Division Property of Equality

Ifa=b, then a/c = b/c

symmelric Properly of
Equality

Transilive Properly of Equally

Ita=b,henb=a

fa=bandb=c.lhena=c

Mulfiplication

Properties of Operafions and
P Idenl&es Property Example(s)
Commutaive Property of Con. -q

Addilion atb-bra 3+4 = Y+3

Commutative Property of ab-b-a b-U=U4b

Associafive Property of
daifion
Associative Property of
Muttiplication

a+(brc)= fa+bj+c

a-fb-cl=fa-b)-c

2+ (lp+3)=(2+0
[-(3:2)=(1-3)2

+

Distribulive Properly

a-brcj=a-bra-c

3(4+9)=3-4+3

[Gal

Multiplicative Identity

aiza 7-1=F
Addilive Inverse Properly a+(a=0 (0 +<p = O
Mullplicalive Inverse ab_, 4.3, ]
Properly b a (3R]
ulicalye rogerly of 000 Q0=0
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Properties of Equallty

Identity the property of equality:
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Properties of Equality Practice Name:
Period:
For each problem, complete he fable by filing in the missing squation or step.
1
Equation step
3x+12=18 Original Equation
x=6 Sublraction property of equally
X=2
2
Equation Siep
3k+5=17 Original Equation
Subhiaclion property of equally
k=4 Division properly of equality
3
Equation Step
3Y5x-1) = 1345 Original Equation
15¢-3- 13+ 5
x-3=5 Subfraction property of equality
x=8
x=14
4
Equation Step
%" —8 Original equation
ve9-24
Subhiaclion property of equally
GSE Algebra | Unit 24 Practice

Properties of Fqualifios

following lables.

1
Equation

Identify the property of equality that justifies each missing step or equation in each of fhe,

Steps

3x+12=8x-18

Given

Sub 70,
Addition Property of Equality
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Equation Steps
1.3k+5=17 Given
2. 3k=12
3. Division Property of Equality
3.

Equation Steps
1.-6a-5=-95 Given
2.
3.

10, (91151 35)=(715)135
Assorom
T1. [8la+c)=8a +8c D' P
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Comwn 30 ol
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5.
Equation Step
2n+5-2 Original equation
n=-6
3
Equation step
7y-84=2y v 61 Original Equation
y=2
7.
Equafion step
%5 _ original Equation
x=7
3
Equation step
2(12¢— 1) = 4fx + 2} Original Equation
T
*=32
Jan 10-11:14 AM
GSE Algebra | unit 24 Practice
4.
Equation Steps
1.3(5x +1)=13x+5 Given
2.
3.
4.
5.
5.
Equation Steps
1.7y—-84=2y+ 61 Given
2.
3.
4.
6.
Equatio Steps
1.4(5n +7)-3n=3(4n-9) Given
2. I0p42%-3n=2n-a3F [Distr @rop
3. 13n+28:41=23 | Carbining Ly Ke Ftrms
4. " snrly = - 23 Subk po Yequ
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S8 Algebra 1 Name
January 17, 2019, Thursday Properties Quick Check Block Date.
For 110, Matchth ollowing property with s example.
1 Commutative ropertyof Additon w600
2. Commutative Property of Multiplication B6+(5+1)=(615)+1
3. Associative Property of Addition it
4. Associative Property of Multiplication D.3(2x 1 8) =6x 1 24
: : : 5 Distrbuive Propery £101 (10 =0
List 3 algebraic properties and an example for each.
6 Addiive denity Property R78=67
7. Multiplicative Identity Property G.81=8
5 Addiive verseProperty oG-
9. Multiplicative Inverse Property 1L9+0=9
10 Mulilicatve roperty ofZero Jatm6ra
For 1112, 5 e
cacof theable bl
u
Stement Reason
T s =i 10 Given
22c18=10
=2 Subtration Property of aualty
pre
»
atement Reason
1. 4(2x +1)= 2x +28 Given
" Distributive Property
Sexrasm
4. Subtraction Property of Equality
e Diision Property
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Literal Equations and Dimensional Analysis Task Literal Equations and Dimensional Analysis Task

1 Thearca ofa wiangle is found using the formula A—fbh A 1. Th ara of  risnle i found using the formula 4=
R P ) it ot it ity s A,i(sxe) Pt e e o il with gt fGrand b o e
S Tz i 1533
zn b - Solve the arsa formulaforb. b. Solve the area formla for b.
¢ et i Foaeb -
=b 8220, =y V\D . .
T\_ 2. The fo{m\lhs lhzduimczmig m:g) rate and time. 2@0) . b 2. The formula d = 7t tells the distance traveled at  given rate and fime.
a Solve the cquation for Y7 W
b. Determine how long it will take al ;ulan:t travel 2,000 miles if it flies: b.

12000 mie
om0 O

7 =t i.200 miles per hour
“ frolibon ,L‘Zgz t 10=t

& ii. 400 miles per hour
i aao et = m

a. Solve the cquation for .

it will toks les ifit £

. i, 600 miles per hour
5 The formutsfor the permerer S a pamge sy L1 3 whereLis e lmg\h and wis the

¥,
width. r width.
a. Solve the formula for length. I &r ~. L a. Solve the formula for length.
o w 7—5; r 2-8),
it is the length of a package that has a ierim and a width of 5 cm? . L b. What is the length of a package that has a perimeter of 22 cm and a width of 5 cm?

3 L 4 the fomula S =L 7L smgm,i.mmt,, o he e
discount rate . id -
g

3. The formula for the perimeter of a package is 2 = 2L + 2W, where L s the length and ¥ i the

4. The formula § = L - 7L shows the relationship among the sale price S, the istprice L, and the
discount rato .

A v Y o savetorr

4 -
b. Use the new formulals find the dcount rae as Sudefims

WZ‘ D~ Seeicgof 340w st pricof 530 40-50 _ i~ . Salepric of $40 and lst pice of $30.
L34 \
120

b Use the d the dis decitmal and

—102

. el pricyof 102 nd st prce o ) g/‘ er i Sale pice of 5102 and listprice of $120.
2 Rl imeotebon s e by e Yt S The vl f o i vy el - ok
iw
& Solve the formula for a.Solve the formula for &
Sole the ormul for . Y oh Solve the formula f
b. What is the beighe of  bor with a vodife of 50 cubie meters, length of 10 meters, and b. Whati the Leight of  bos with a volunae of 50 cubie seters, ength of 10 meters, and
idh of 2 meters? ey e width of 2 meters?

w7 50 - |,
o
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Solving for Missing Variable N Rewrite each equation in ferms of the indicated (Lefter).
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January 18, 2019

January 18, 2019, Friday

1) Solve:y=mx+bforb
V= mhkdb

X = X
Y-m¥=p

2) Solve: y =mx + b for x

b
i B
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S lope intercep) form: Y=mx+b
M=Slope="LISE (Lrac tion)
Newn1 b= y= i adercept W hene Neme

Slope Int pt F Date Block
G raph crosses tht y-axs
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Name
Creating Linear Equations In Two Variables

LA charges a 33

o its meter which i §2 for every mile.

2 Tno restourantis having o special foightn which you can 0@t ik for §2.50 and then
purchase some wings for $.30

3. Agear on amachine lums al arale of 2 revolutions per second,

4.The carpenter s golng fo buI frls new house for Habitat for Fumaniy. The carpenter quoted a
price of $125,000 for e suppies and fhen for a discounted price, his houry rafe would be $5 per
hour.

5. Acab company charges an Inffial rate of $2.50 for a ide, pius $0.40 for each mlle diven.

6. o ceidy salary of $300 plus of $50 for each vacuum he
sell,

7. Awater company charges a monihly fee of $6.70 plus a usage fee of §2.60 per 1,000 gallons
a.

8 Moddie borowed 1,250 from a fiend fo buy a new TV. Her fiend doesn't charge any inferes',
and Maddie makes $40 paymens each monih

9. You and some friends cre hiking the Appalachian Trail. You staried out with 70 pounds of food
for the group, and eat about 8 pounds each day.

10. The Irash company is charging $17 per monih and $25 frash can renlol fee.
1. Juan paid $20 per pants and a shirt for $25.
12. M. Koller's Rentals ren! @ Cadillac Escalade for $99 for one week pius $0.11 per mile.

13, We went looking af different cell phone packages. Package A has a base rate of $39.95 and
Wil Gost 0,17 per minute.

14, Kim ond Cyndi are slarling o business Iuloring studenis in math. They ren an oflice for $400 per
month and charge $40 per hour per studert.

L 23) 3xo2y=a 24) 2x-y=4
Applications of Standard to Slope Intercept Form.
1 !enmfu o jobs after school
ing money aud o helppay o e ifon, At Job X, s 58 an bour, and b Y, sh gt $10
ot T enn o vorks bt Too X and Tob ¥ duri th weck,
a for her total income for working x hours at Job X and  hours at Job Y.
b. Fow much will she make if she works 10 hours at each job during the week?
jo
this situation.
5
. Rewrite your equation in slope-intercept form, then graph. | /|
4
. Find three different combinations of hours worked at each | 2|
job that will allow Jennifer to earm S100.
IEEREEL
2 Youare Thistle seed
fnches ad sost 52 per pound. attracts many kinds of sunbirds and

costs $1.50 per pound.

oil sunflower sced, y, that you could bus.

b. Graph the line representing the possible
‘mixtures.

thistle seed, x, and $1.50 dark

. List three possible combinations of seed mixtures.
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